K 8 wérksheets

Dividing Polynomials by Monomials WS #2

Divide the following.

1. (x*y —2x3y — x3y3z + x*y?z) = x%y =

2. (15a3b + 3a?b — 6a?b3 — 12a%bc?) +~ 3a%*h =

3. (xy3z—4y?z+ 6xyz —y3z+yz) + (—yz) =

4. (x3y — 2xy + xy? + x*yz — 8xy3) + xy =

5. (6ab*c — 3a3bc? + 2a3bc — 4ab3c) + abc =

6. (—2p2qr? — 2pq?r3 — 3pq*r? + 5pqr?) + pqr? =

7. (—r3s*t 4+ 2r2s3t + 253t + rs*td ) + 5%t =

8.(10xy3z — 2y3z + 4y?z3 + 6xy32z%) + 2y%z =

9. (4xyz + 12xyz? — 6xy? + 12x3yz) + 2xy =

10. (4u*vw + 8uv + 10uv?w—8uvw) +2uv =
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